
Analisi Matematica 1

Formule di McLaurin di Funzioni Elementari

Supponiamo che x→ 0. Allora

• ex = 1 + x+
x2

2!
+ · · ·+ xk

k!
+ o

(
xk

)
• sinx = x− x3

3!
+
x5

5!
+ · · ·+ (−1)k

x2k+1

(2k + 1)!
+ o

(
x2k+2

)
• cosx = 1− x2

2!
+
x4

4!
+ · · ·+ (−1)k

x2k

(2k)!
+ o

(
x2k+1

)
• sinhx = x+

x3

3!
+
x5

5!
+ · · ·+ x2k+1

(2k + 1)!
+ o

(
x2k+2

)
• coshx = 1 +

x2

2!
+
x4

4!
+ · · ·+ x2k

(2k)!
+ o

(
x2k+1

)
• log(1 + x) = x− x2

2
+
x3

3
+ · · ·+ (−1)k−1 x

k

k
+ o

(
xk

)
• (1 + x)α = 1 +

(
α

1

)
x+

(
α

2

)
x2 + · · ·+

(
α

k

)
xk + o

(
xk

)
dove, per α ∈ R e k ∈ N ,

(
α

k

)
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In particolare, per α = −1 e α = 1
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